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PsLs[t ;DkQL s/ 

 1_ PsLs[t ;DkQL s/ cf=j= @)&$ /)&% sf] ;+zf]lwt s/, z'Ns tyf 
dxz'n 

1 
?= ! b]lv %) xhf/ ;Dd 

               25.00  

2 ?= %) xhf/ ! b]lv ! Ps nfv ;Dd                 35.00  

3 ?= ! nfv ! b]lv @ nfv %) xhf/ ;Dd                70.00  

4 ?= @ nfv %) xhf/ ! b]lv # nfv ;Dd                90.00  

5 ?= # nfv !  b]lv # nfv %) xhf/ ;Dd               110.00  

6 ?= # nfv %) xhf/ ! b]lv $ nfv ;Dd                120.00  

7 ?= $ nfv ! b]lv $ nfv %) xhf/ ;Dd               130.00  

8 ?= $ nfv %) xhf/ ! b]lv % nfv ;Dd               140.00  

9 ?= % nfv ! b]lv ^ nfv ;Dd               150.00  

10 ?= ^ nfv ! b]lv & nfv ;Dd               160.00  

11 ?= & nfv ! b]lv * nfv ;Dd               175.00  

12 ?+ * nfv ! b]lv ( nfv ;Dd                190.00  

13 ?= ( nfv ! b]lv !) nfv ;Dd              200.00  

14 ?= !) nfv ! b]lv !@ nfv ;Dd               260.00  

15 ?= !@ nfv ! b]lv !$ nfv ;Dd               310.00  

16 ?= !$ nfv ! b]lv !^ nfv ;Dd               350.00  

17 ?= !^ nfv ! b]lv !* nfv ;Dd               380.00  

18 ?= !* nfv ! b]lv @) nfv ;Dd              400.00  

19 ?= @) nfv ! b]lv @@ nfv ;Dd               500.00  

20 ?= @@ nfv ! b]lv @$ nfv ;Dd               630.00  

21 ?= @$ nfv ! b]lv @^ nfv ;Dd              780.00  

22 ?= @^ nfv ! b]lv @* nfv ;Dd               850.00  

23 ?= @* nfv ! b]lv #) nfv ;Dd             1,000.00  

24 ?= #) nfv ! b]lv #$ nfv ;Dd             1,200.00  

25 ?= #$ nfv ! blv #* nfv ;Dd             1,500.00  

26 ?= #* nfv ! b]lv $@ nfv ;Dd             2,000.00  

27 ?= $@ nfv ! b]lv $^ nfv ;Dd             2,500.00  

28 ?= $^ nfv ! b]lv %) nfv ;Dd             3,000.00  

29 ?= %) nfv ! b]lv ^) nfv ;Dd             3,500.00  

30 ?= ^) nfv ! b]lv &) nfv ;Dd             4,500.00  

31 ?= &) nfv ! b]lv *) nfv ;Dd             6,000.00  

32 ?= *) nfv ! b]lv () nfv ;Dd            8,000.00  

33 ?= () nfv ! b]lv ! s/f]8 ;Dd           10,000.00  

34 ?= ! s/f]8 ! b]lv ! s/f]8 @) nfv ;Dd            12,000.00  

35 ?= ! s/f]8 @) nfv ! b]lv ! s/f]8 ^) nfv ;Dd            16,000.00  

36 ?= ! s/f]8 ^) nfv ! b]lv @ s/f]8 ;Dd           20,000.00  

37 ?= @ s/f]8 ! b]lv @ s/f]8 @) nfv ;Dd            25,000.00  



 

 

38 
?= @ s/f]8 @) nfv ! b]lv # s/f]8 @) nfv ;Dd           40,000.00  

39 ?= # s/f]8 @) nfv ! b]lv $ s/f]8 ;Dd           50,000.00  

40 ?= $ s/f]8 ! b]lv % s/f]8 ;Dd           60,000.00  
41 ?= % s/f]8 ! b]lv dfly hlt eP TolQdf @ b'O{ ?k}of k|lt xhf/sf] b/n] yk x'g]5 . 

 
 

       

1 

ufpFAnsdf /x]sf] 3/ s/ aflif{s M   
s_ k'm;sf] 3/                35.00  
v_ vk8f jf l6gsf] 5fgf               70.00  
u_ kSsL Ps tn] 3/             200.00  
3_ kSsL b'O{ tn] 3/              350.00  
ª_ kSsL tLg tn] 3/              650.00  
r_ kSsL rf/ tn] 3/              850.00  
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Aoj;fo s/ 

 
 ! ;fj{hlgs hUufdf 6°L /fvL k;n ug]{ axfn s/              660.00  
 @ kfg k;n dfq ug]{ Aoj;foL             300.00  

 # 
Aofkfl/s j:t' l8i6LAo'6;{ -Ps eGbf al9 ePdf k|To]s a:t'df ?= 
%)).)) yk nfUg]_            3,360.00  

 $ dlb/f laqmL lat/0f ug]{ l8n/            5,400.00  
 % dlb/f xf]n;]n yf]s laqmL ug]{ k;n           4,200.00  
 ^ dlb/f v'b|f laqmL lat/0f ug]{ k;n             2,520.00  
 & Ps Aofkfl/s j:t'sf] l8n/ -Pn=kL= Uof; df yk ?+ &))_              960.00  

 * PseGbf a9L Aofkfl/sj:t'sf] l8n/ -k|To]sa:t'df ?= #%).))_ 
Pn=kL=Uof;dfyk?= &)).))              960.00  

 ! 

;'g k;n M   
æsÆ ju{df kg]{ k;n           6,000.00  
ævÆ ju{df kg]{ k;n           4,000.00  
;'g rf+bL dd{t dfq           2,000.00  

 @ 
cl8of]÷lel8of] Sof;]6, l;=8L=, l8=le=8L= xf]n;]n yf]s /]s8{/ tyf 
laqmL Pj+ lel8of]u|fkmL ;d]t            2,280.00  

 # 
cl8of]÷lel8of, l;=8L=, l8=le=8L=] Sof;]6 xf]n;]n yf]s /]s8{/ tyf 
laqmL            1,740.00  

 $ cl8of]÷lel8of], l;=8L=, l8=le=8L= Sof;]6 /]s8{/ tyf laqmL              960.00  

 % 
k]6«f]lnod kbfy{ kDk /fvL laqmL ug]{ Aoj;fo -Ps eGbf al9 kDk 
ePdf k|To]ssf] yk ?= !,))).))            5,500.00  

 ^ dl§t]n kDk            1,920.00  
 & k]6«f]lnod kbfy{ 8«fd jf Uofn]gdf /fvL laqmL ug]{ Aoj;fo           1,800.00  
 * laB't ;fdfg laqmL lat/0f ug]{ Aoj;fo            1,740.00  
 ( sDKo'6/÷Sofd/f÷l6=eL=÷/]l8of]÷lk|mh k;n            2,580.00  
 !) 3/ ;hfj6sf ;fdfgx? sfk]{6÷s'zg÷kmd k;n            1,740.00  
 !! 38L÷rZdf k;n             840.00  
 !@ ls/fgf ;fdfgsf] yf]s laq]mtf            1,740.00  



 

 

 !# ls/fgf ;fdfgsf] Aoj;fo ug]{ k;n æsÆ ju{sf]            1,200.00  
 

!$ 
ls/fgf ;fdfgsf] Aoj;fo ug]{ k;n ævÆ ju{sf]             840.00  

 !% ;jf/L ;fwgx? laqmL lat/0f ug]{ Aoj;fo M   
  s_ ;fO{sn           2,000.00  
  v_ df]6/;fO{sn           4,000.00  

 !^ hLk÷6]«S6/ h:tf ;fwgx? laqmL ug]{ k;n           6,000.00  
 !& sk8f k;n æsÆ ju{sf] nflu             1,260.00  
 

!* 
sk8f k;n ævÆ ju{sf] nflu             840.00  

 !( /]l8d]6 k;n æsÆ ju{sf]            1,260.00  
 

@) 
/]l8d]6 k;n ævÆ ju{sf]             840.00  

 @! >[Ëf/ k;n æsÆ ju{sf]            1,260.00  
 @@ >[Ëf/ k;n ævÆ ju{sf]             840.00  
 @# Ao'6L kfn{/            1,260.00  
 

@$ 
efF8f k;n æsÆ ju{sf]           1,440.00  

 @% efF8f k;n ævÆ ju{sf]              960.00  
 @^ 5fnfsf] h'Qfsf] l8n/            1,860.00  
 @& 5fnfsf] h'Qf rKkn agfO{ laqmL ug]{             1,560.00  
 

@* 
h'Qf rKkn k;n            1,260.00  

 @( r'l8sf] yf]s laq]mtf             900.00  
 #) r'l8sf] v'b|f laq]mtf             840.00  
 #! ;'lt{ k;n            1,140.00  
 #@ k|];/ s's/, lx6/, :6f]k Aoj;fo           1,440.00  
 ## l;nfO{ k;n Ps d]l;g eGbf dfly             840.00  
 

#$ 
l;nfO{ k;n Ps d]l;g dfq ePsf]             600.00  

 #% 8f]/L, ;'t/L, gfl/on tyf Knfli6ssf] 8f]/L s+'rf], emf8' laqmL             840.00  
 #^ ;fO{g af]8{ k]G6LË            1,260.00  
 #& km|]d, l;;f, kmf]6f] kf]i6sf8{ cflb las|L ug]{              700.00  

lgdf{)f ;fdu|L Aoj;fo   
 ! xf8{j]o/ k;n l;d]06 / 58 ;d]t laqmL ug]{           3,000.00  
 @ xf8{j]o/ k;n æsÆ ju{df           2,000.00  
 # xf8{j]o/ k;n ævÆ ju{df           1,800.00  
 $ l;d]06 dfq laqmL ug]{           2,000.00  
 % k]G6LË -Ogfd]n k]G6, ;df];d, r'gfx? ;d]t_ laqmL ug]{           2,000.00  
 ^ ;6/LË 9nfO d]lzg lnkm\6 ;d]t ePsf]            2,500.00  
 & ;6/LË 9nfO d]lzg lnkm\6  gePsf]           1,800.00  
 * ;6/LË kmdf{ tyf aNnf k6/f ePsf]            1,200.00  

laz]if1 k/fdz{ tyf cGo Aoj;flos ;]jf   
 ! 8fS6/, OlGhlgo;x?sf] Aoj;flos ;]jf            2,500.00  

 @ 

sfg"g Aoj;foLx? M   
s_ clwjQmf             900.00  
v_ clejQmf              750.00  
u_ clestf{             700.00  



 

 

  #_ /f]6/L kAnLs Aoj;fo            1,300.00  
 # cf]e/;Lo/, x]=c=, slj/fh            1,500.00  

 $ 

n]vfk/LIfssf] Aoj;fo M   
s_ æsÆ ju{            1,300.00  
v_ ævÆ ju{            1,100.00  
u_ æuÆ ju{             900.00  
#_ æ3Æ ju{             800.00  

 % bGt lrlsT;s / kz' lrlsT;s            1,500.00  
 ^ ladf Ph]G6, z]o/ bnfn tyf cGo Ph]G;L            1,500.00  
 & cg';Gwfgstf{ tyf k/fdz{bftf             1,950.00  
 * a}b]lzs /f]huf/           2,000.00  
 ( 6«fe]n Ph]G;L            2,500.00  
 !) :jb]zL /f]huf/             900.00  

lgdf{0f Aoj;foLx? M    
 ! s_ æsÆ ju{sf] lgdf{0f Aoj;foL            3,100.00  
 @ v_ ævÆ ju{sf] lgdf{0f Aoj;foL           3,000.00  
 # u_ æuÆ ju{sf] lgdf{0f Aoj;foL           2,800.00  
 $ #_ æ3Æ ju{sf] lgdf{0f Aoj;foL           2,000.00  

 % 
g=kf af6 x'g] 7]Ssfdf aflx/sf lgdf{0f Joj;flon] lgdf{0f sfo{sf] 
Ohfht kfPdf ;f]xL adf]lhd nfUg] 5    

pTkfbs d'ns pBf]u   
 ! O{6f e§f pBf]u lrDgL e¶f           4,000.00  
 @ O{6f e§f pBf]u e';L e¶f           3,800.00  
 # ;'lt{ pBf]u            3,060.00  
 $ Ro'/f pBf]]u -ldn_            3,060.00  
 % la:s'6, kfp/f]6L, a/km tyf cfO{liqmd pBf]u            3,060.00  
 ^ cu/aQL pBf]u            3,060.00  
 & d;nf pBf]u            3,060.00  
 * ;fa'g, ;k{m pTkfbs pBf]u            3,060.00  
 ( ;ldn Aoj;fo 7'nf]             4,560.00  
 !) ;ldn Aoj;fo ;fgf]            3,060.00  
 !! 8]/L pBf]u            3,060.00  
 !@ ;'uGwLt t]n pTkfbs            3,060.00  
 !# rnlrq lgdf{0f Joj;fo            3,500.00  

!$ vfB j:t' pTkfbs pBf]u 
           3,060.00  

!% z'4 kflg pTkfbg tyf las|L            2,640.00  
!^ Pn=kL Uof; lkmlnu+ ug]{          10,000.00  
!& l;8||\; sDkgL lndL6]8            4,000.00  
!* rfprfp pBf]u            5,000.00  
!( s''v'/fsf] bfgf pKkfbg ug]{ pBf]u            4,000.00  

ldn tyf sf/vfgfx?   
 ! !% xif{ kfj/             2,520.00  
 @  @% xif{ kfj/           3,000.00  
 #  @% xif{ kfj/ eGbf dfly            3,875.00  



 

 

kmlg{r/ pBf]u tk{m   
 ! s_ æsÆ >]0fLsf] kmlg{r/ pBf]u           3,000.00  
 @ v_ ævÆ >]0fLsf] kmlg{r/ pBf]u            2,500.00  
 # u_ /]l8d]8 kmlg{r/ laqmL ug]{            2,200.00  

    
uNnf Aoj;foLx?   

 ! yf]s vl/b tyf laq]mtf           3,000.00  
 @ v'b|f vl/b tyf laq]]]mtf            2,600.00  

xf]6]n Aoj;foLx?   
 ! vfgf a:g] ;'ljwf ePsf] c6}r sf]7f ;d]t             3,500.00  
 @ vfgf, a:g] Aoj:yf ;d]t ePsf]            2,900.00  
 # vfgf dfq ePsf]            2,790.00  
 $ lrof, ld7fO{, gf:tf æsÆ ju{df            2,220.00  
 % lrof, ld7fO{, gf:tf ævÆ ju{df            2,100.00  
 ^ /]i6'/]06 P08 af/            2,790.00  
 & k'n xfp; tyf :g's/            1,600.00  
 * ;fgf xf]6]n Aoj;foLx?             1,150.00  
( ;fgf lrof k;nx?             700.00  
!) vfgf a:g] ;'ljwf ePsf] c6}r sf]7f -A/c_ ;d]t ePsf              6,360.00  
!! tf/] xf]6n - k|lt tf/f ykdf kf+r xhf/ yk nfUg]_          15,000.00  

x]o/ sl6Ë -;}n'g_   
 ! sf]7f ef8fdf lnO{ Aoj;fo u/]sf              960.00  
 @ 6°Ldf Aoj;fo u/]sf             700.00  

:6]zg/L, 5fkfvfgf tyf 6]G6 xfp;   
 ! ckm;]6 k|];            3,420.00  
 @ 5fkfvfgf  -k|];_            2,790.00  
 # :6]zg/L k;n 7'nf]            2,460.00  
 $ :6]zg/L k;n            1,740.00  
 % :6]zg/L k;n tyf kmf]6f]skL ;d]t            2,460.00  
 ^ 6]G6 xfp; Aoj;fo -7'nf]_            2,460.00  
 & 6]G6 xfp; Aoj;fo -;fgf]_            1,740.00  

;]jf / ;~rf/ ;]jf tk{m   

1 6]lnkmf]g, k\mofS;, Od]n, OG6/g]6, kmf]6f] :6'l8of], kmf]6f]skL tyf 
lel8of]u|fkmL            2,100.00  

2 6]lnkmf]g, k\mofS;, Od]n, OG6/g]6, kmf]6f] :6'l8of],            1,740.00  
3 kmf]6f] :6'l8of] Pj+ lel8of]u|fkmL            1,320.00  
4 l;=g+= ! df pNn]lvt s'g} Pp6f dfq ;]jfdf             840.00  
5 Pkm=Pd= /]l8of] k|zf/0f           3,480.00  
6 ;fd'bflos /]l8of] k|zf/0f Pkm=Pd=            2,640.00  
7 ;fO{a/ ;]jf            1,320.00  
8 df]afO{n kmf]g laqmL lat/0f jf dd{t ug]{            1,344.00  
9 sn/ Nofa            2,820.00  
10 s'l/o/ ;]jf             840.00  
11 df]afO{n ;]jf ;~rfng l;kmfl/; Psk6s dfq -6fj/ h8fg _           6,000.00  
12 s]a'n Aoj;fo            8,500.00  



 

 

ljQLo ;]jf tk{m   
g]kfn ;/sf/sf] k'0fF{ :jfldTjdf /x]sf afx]s cfly{s sf/f]af/ ug]{ ljlQo If]qsf 

;+:yfx?   

 ! 
jfl0fHo a}s+ zfvf sfof{no ePsf] - d'Vo sfof{no ePsf] df tf]sLPsf] 
z'Nsdf @% k|ltzt yk          22,000.00  

 @ 
ljsf; a}s+ zfvf sfof{no ePsf] - d'Vo sfof{no ePsf] df tf]sLPsf] 
z'Nsdf @% k|ltzt yk          18,000.00  

 # kmfOg]G; sDkgLx?           3,000.00  
 $ lab]zL d'b|f ;6xL sfp06/            1,900.00  
 % ;xsf/L ;+:yfx?           2,000.00  
 ^ /]dL6\ofG; sf/f]af/            1,750.00  
 & Sof6l/Ë ;]jf            1,450.00  
 * d]/Lh xfp;            1,450.00  
( aLdf sDkgL            5,000.00  
( s[lif ;xsf/L           1,000.00  

:jf:Yo ;]jf tk{m   
 ! lSnlgs tyf Nofa            1,100.00  
 @ g/l;ª xf]d           4,600.00  
 # cf}ifwL k;n æsÆ ju{sf]            1,300.00  
 $ cf}ifwL k;n ævÆ ju{sf]            1,200.00  
 % ls6gfzs cf}ifwL dnvfb laq]mtf            1,100.00  
 ^ u}/ ;/sf/L c:ktfn           6,000.00  
& s[lif tyf kz' cf}ifwL ljs|L           1,000.00  

ljBfno tyf dxfljBfno aflif{s s/ tyf l;kmfl/;   
 ! lghL :t/ k|fylds ljBfno             900.00  
 @ lghL :t/ lgDgdfWolds ljBfno             1,250.00  
 # lghL :t/ dfWolds ljBfno            1,450.00  
 $ lghL :t/ SofDk; / pRr df=lj=           3,000.00  
 % ;fd'bflos :t/ k|fylds ljBfno              750.00  
 ^ ;fd'bflos :t/ lgDgdfWolds ljBfno            1,050.00  
 & ;fd'bflos :t/ dfWolds ljBfno             1,250.00  
 * ;fd'bflos :t/ SofDk;             1,650.00  
 ( 6fO{lkË k|lzIf0f s]Gb|            1,700.00  
 !) sDKo'6/ k|lzIf0f s]Gb|   
  !) yfg sDKo'6/ eGbf dfyL            3,780.00  
  !) yfg sDKo'6/ ;Dd            2,940.00  

 !! efiff k|lzIf0f s]Gb|           2,400.00  
 !@ 8«fO{leË k|lzIf0f s]Gb|            2,820.00  

dd{t ;Def/ ;]jf tk{m   
 ! x]eL OSjLkd]06, a;, 6«s, 6]«S6/, df]6/            1,700.00  
 @ df]6/;fOsn, 6\ofDkf]           1,440.00  
 # df]6/, df]6/;fOsn xjf eg]{ tyf kGr/ dd{t             840.00  
 $ ;fOsn dd{t              720.00  
 % /]l8of], l6=eL=, s'n/, 6]lnkmf]g h:tf On]S6«f]lgS; ;fdfg           1,440.00  
 ^ k|];/ s's/, lx6/, :6f]e, 38L, rZdf dd{t             900.00  



 

 

 & js{zk, a8L laN8;{, u|Ln, ;6/ tyf :6Ln b/fh agfpg]           2,880.00  
 * Uof+;, j]N8LË, a]6«L rfh{             840.00  

( afs; agfpg] 
           1,320.00  

t/sf/L, kmnk'mn Aoj;foL   
 ! kmnk'mn laq]mtf -yf]s_           1,000.00  
 @ kmnk'mn laq]mtf -k'm6s/_             700.00  
 # t/sf/L k;n             700.00  

df;' Aoj;foLx?   
 ! s'v'/fsf] df;' k;n            1,200.00  
 @ v;Lsf] df;' k;n            1,320.00  
# s'v'/f tyf v;Lsf] df;' k;n            1,500.00  
$ ;+'u'/, a+u'/, /f+ufsf] df;' k;n            1,500.00  
% df5f k;n Aoj;foL             840.00  
^ /f+uf, e}+;L vl/b laqmL Aoj;foL            1,860.00  
& df5f k;n ;fgf             780.00  

s[lif tyf kz' kfng Joj;fo   
1 e}+;L kfng Joj;fo            1,100.00  
2 afv|f kfng Joj;fo             700.00  
3 s'v'/f kfng Aoj;fo   
s !)) au{ lkm6 ;Ddsf]           1,000.00  
v !)) au{ lkm6 eGbf dfyL            2,500.00  
4 au+/ kfng Joj;fo            1,100.00  
5 g;{/L pTkfbg / laqmL lat/0f             600.00  
6 ufO{ kfng Joj;fo             800.00  
  cGo Joj;fo   
1 aflx/af6 ;jf/L ;fwgdf NofO{ laqmL ug]{            1,100.00  
2 sjf8 k;n lzzL af]tn Knfl:6s tyf cGo lsl;dsf sjf8             900.00  
3 bfp/f ljs|L ug]{               550.00  

 

cg';"rL -3 
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;jf/L btf{ tyf aflif{s ;jf/L s/ 

1 a;, 6«s, nf/L / cGo x]eL uf8L           1,000.00  
2 ef8fsf] sf/, hLk             400.00  
3 ef8fsf] 6\ofDkf]             300.00  
4 ef8fsf] ldlga;             800.00  
5 lghL sf/, 6]Dkf], ldgLa;             300.00  
6 :s'6/, df]6/;fOsn             100.00  
7 7]nfuf8f, l/S;f, 6fËf                25.00  
8 a;kfs{ eGbf aflx/af6 ;jf/L ;fwg ;~rfng u/]df hl/jfgf             1,501.00  
  k6s] ;jf/L s/   
1 a;, 6«s, nf/L / cGo x]eL uf8L                25.00  



 

 

2 ef8fsf] sf/, hLk, 6\ofDkf], ldgLa;                15.00  
3 lab]zL gDa/ Kn]6sf 6«s -;fdfg 9'jfgLdf k|of]u_               125.00  

 

cg';"rL -4 
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la1fkg s/ 

1 xf]l8{Ë af]8{, Joj;flos a]g/ aflif{s % lkm6 ;Ddsf]              250.00  
2 xf]l8{Ë, Joj;flos a]g/ aflif{s % lkm6 eGbf dfly             600.00  
3 Joj;flos j]g/ leQ] n]vg % lkm6 ;Ddsf]              150.00  
4 Joj;flos j]g/ leQ] n]vg % lkm6 eGbf dfly             300.00  
5 Joj;flos a]g/ / k|lt k6s             100.00  
6 ;/sf/L jf ;fj{hlgs lxtsf] nflu  lgz'Ns 
7 Jo;flos xf]l8{Ë af]8{ -k|lt ju{ lkm6_ JolQmut :yndf               20.00  

 

cg';"rL -5 

-bkmf 8 ;+u ;DalGwt_ 

 
dgf]/~hg s/ 

1 l;g]dfxn, lel8of], ;fF:s[ltsxn, lyo6/ ;~rfng ubf{ k|a]z z'Nssf]  2 k|ltzt 
2 hfb', ;s{;, r6s cflbdf k|lt lbg             200.00  

3 P]ltxfl;s :yn ltnf}/fsf]6 tyf s'bfgdf ef/tLo ko{6sx?nfO{ k|j]z 
ubf{ k|lt JolQm k|lt :yn                15.00  

4 Pltxfl;s :yn ltnf}/fsf]6 tyf s'bfgdf ef/t afx]ssf cGo 
ko{6sx?nfO{ k|j]z ubf{ k|lt JolQm k|lt :yn                25.00  

 

cg';"rL -6 
-bkmf ( ;+u ;DalGwt_ 

 
axfn la6f}/L z'Ns 

1 ;efsIf ef8f tNnf] ejg           3,000.00  
2 ;efsIf ef8f dfly           2,000.00  
3 k|zf;lso ejgsf] xn ef8f           1,000.00  
4 h]g/]6/ k|lt 306f             400.00  

5 g=kf k;n 3/ tNnf] tnf sf]7f g+=! b]lv !# ;Ddsf] k|lt sf]7f -dfl;s_ 
Go'gtd 

xfn k;n ef8fdf lnPsf JolQmx?n] sjf]n u/]sf] 
/sdnfO{ g}   Go'gtd d'No sfod ug]{ 

6 g=kf k;n 3/ tNnf] tnf sf]7f g+=!$ k|lt sf]7f -dfl;s_ Go'gtd 

7 g=kf k;n 3/ dflyNnf] tnf sf]7f g+=!,@,#,$,^ / & sf] k|lt sf]7f -dfl;s_ 
Go'gtd 

8 g=kf k;n 3/ dflyNnf] tnf sf]7f g+=% / * sf] k|lt sf]7f -dfl;s_ 
Go'gtd 

9 a;kfs{ k;n 3/ k|lt sf]7f -dfl;s_ Go'gtd 700.00 

10 3'DtL k;nsf] nflu b}lgs  -xf6ahf/sf] lbg afx]s               10.00  

11 3'DtL df;' :6n xf6ahf/ -xf6ahf/sf] lbg afx]s_                15.00  
12 3'DtL df5f :6n xf6ahf/ -xf6ahf/sf] lbg afx]s_               10.00  



 

 

cg';"rL -6 
-bkmf ( ;+u ;DalGwt_ 

axfn la6f}/L z'Ns -/fd3f6 d]nf _  

  
s|=;+= laj/0f 2074÷075 sf] b//]6 

1 xf]6n -vfgf tyf gf:tf ;d]t ePsf]]_ 100.00 

2 xf]6n -vfgf dfq ePsf]]_ 75.00 
3 lrof gf:tf dfq /x]sf]  50.00 

4 ld7fO k;n -l3psf] ld7fO{_ 100.00 
5 ld7fO k;n -u6\6f,atf;f / ld7fO{_ 75.00 

6 t/sf/L k;n !))) eGbf dflysf] 60.00 
7 t/sf/L k;n !))) ;Ddsf] 50.00 

8 t/sf/L k;n %)) ;Ddsf] 50.00 
9 ls/fgf k;n $)) eGbf dflysf] 30.00 

10 ls/fgf k;n $)) eGbf sdsf] 15.00 
11 df6f]sf] ef8f k;n 30.00 

12 lrof k;n 50.00 
13 kfg k;n 30.00 

14 kfg k;n- l;u/]6, ljl8,;nfO{ u'6vf ;d]t _ 50.00 

15 df5f df;' af6 75.00 

16 lstfj sflk 30.00 
17 r'8L dfq ePsf] 30.00 

18 sk8f xf]h]/L la;ftf ePsf]  50.00 
19 dgf]/h+g k;n 75.00 

20 h'Qf dd{t 15.00 
21 wfg rfdn vl/b ug]{ 50.00 

22 ;'lt{ tDafv' k;n 30.00 
23 c08f k;n 30.00 

24 3'lDt k;n h'g;'s} 20.00 
25 afbfd d'DkmnL 20.00 

26 e'hf e'6g] / a]Rg] 30.00 
27 e'hf afbfd k;n 30.00 
28 ;fOsn :6]08 af6  500.00 
29 ;fOsn :6]08df k|lt ;fsn 5.00 
30 ;fO{sn :6]08df k|lt df]6/;fOsn 10.00 
31 kmnkm'n k;n 20.00 
32 kfgLsf] ;j{t a]Rg] 15.00 
33 lel8of] 500.00 

 

 
 



 

 

 
 

cg';"rL -6 
-bkmf ( ;+u ;DalGwt_ 

axfn la6f}/L z'Ns -xf6ahf/ a}7sL _ 

   
s|=;+= laj/)f 2074÷075 sf]   b//]̂  

1= 

ef+8f ls/fgf, la;ftf,wfg, rfdn,ld7fO{, bfn, gkf}gf,;'lt{, tDafs', h'Qf, rKkn, 
lstfj, r'8L, lap lahg, sk8f, e]nL, cfbL :6nsf] k|lt lkm6 k|lt ahf/ 

             3.00  

2= cfn' Kofh k|lt lkm6 df]x8fsf] lx;fjn] k|lt ahf/ -;]8 leq_             10.00  

3= 

df^f]sf] ef¤8f, dd{tL, Ro"/f e"hf, ;fg, t]n, 6f]s/L, emf}jf / o:t} lsl;dsf] cGo 
lsl;dsf] ;fdfg las|L df -;]8  aflx/sf] k;ndf_ k|lt ahf/ 

            15.00  

4= xf6ahf/ leq 7]nf, ;fO{sndf ;fgf] ltgf] Aoj;fo ug]{nfO{ k|lt ahf/             15.00  

5= t/sf/L k;n s[ifs ju{sf]   

  s_ $ -rf/_ lkm6 eGbf sdsf] k|lt ahf/             10.00  

  v_ $ -rf/_ lkm6 b]lv ^ -5_ lkm6 ;Ddsf] k|lt ahf/             15.00  

  u_ ^ -5_ lkmb]lv !) -bz_ lkm6 ;Ddsf] k|lt ahf/             20.00  

6= t/sf/L laqmL   

7= :j pTkfbg jf :jb]zL vl/baf6 xf6ahf/df NofO{ Aofkf/L ju{nfO{ laqmL ug]{   

   s_ ;fO{snaf6             10.00  

   v_ a}n uf8faf6             25.00  

   u_ 6«]S/af6            40.00  

   #_ 6«saf6 dfn ;fdfg NofO{ lamL ug]{ k|lt af]/f              1.00  

8= lrof gf:tf xf]6n             35.00  

9= df5f laqmL :6n             35.00  

10= df;' k;n :6n -v;L tyf s'v'/f_             45.00  

11= kfg, la8L, l;u/]6 k;n             10.00  

12= ef/taf6 xf6ahf/df 6«sdf dfn;fdfg NofO{ laqmL x'g] ;fdfgx?df k|lt af]/f              2.00  

13= pk/f]Qmfg';f/sf] afx]ssf] ;fdfg laqmLdf k|lt ahf/             20.00  

14= df;' :6n dfl;s -g=kfdf btf{{ ePsf] v08df_           1,000.00  

15= df5f :6n dfl;s -g=kf btf{  ePsf] v08df_            700.00  

16= zf}rfno lbzf dfq ?= 5 kf+r 

 



 

 

 

cg';"rL -7 
-bkmf 10 ;+u ;DalGwt_ 

 

 
kfls{ª z'Ns -a;kfs{_ 

1 kfls{Ë z'Ns k|lt uf8L k|lt l6«k a;, ldlga;, dfOqmf]               30.00  
2 kfls{Ë z'Ns k|lt uf8L k|lt l6«k hLk                15.00  
  ;jf/L kfs{ -a;kfs{ afx]s_   
1 kfls{Ë z'Ns k|lt uf8L a;, ldlga;, dfOqmf] k|lt 306f                25.00  
2 kfls{Ë z'Ns k|lt uf8L  hLk, sf/ k|lt 306f               10.00  
3 kfls{Ë z'Ns df]6/;fOsn k|lt 306f                 5.00  
4 kfls{Ë z'Ns k|lt ;fOsn k|lt 306f                 2.00  

5 s|=;+ ! b]lv $ ;Ddsf ;jf/L ;fwgx?df k|lt k6s sf] xsdf s|dz M 
?= 50.00,20.00,10.00 / 5.00 

 

cg';"rL -8 
-bkmf !! ;+u ;DalGwt_ 

 

 
aflif{s ;/;kmfO{ ;]jf z'Ns - j8f g+= ! / # sf] -dlxtf / b]jfgul9of 

5f]8]/_  

1 ! b]lv @ nfv %) xhf/ d'Nof°g ePsf]] -3/_                25.00  
2  @ nfv %) xhf/ ! b]lv !) nfv  d'Nof°g ePsf]] -3/_                35.00  
3 !) nfv ! b]lv @* nfv d'Nof°g ePsf]] -3/_               60.00  
4  @* nfv ! b]lv ! s/f]8 d'Nof°g ePsf]] -3/_               125.00  
5 ! s/f]8 ! b]lv dfly d'Nof°g ePsf]] -3/_             200.00  
6 xf]6]n tyf /]i6'/]06 Joj;fo ;+u             400.00  
7 cGo Joj;fodf              150.00  

 
aflif{s ;8s alQ pkef]u ;]jf z'Ns-j8f g+= ! b]lv !@ ;Dd 3/ 

ePsf] dfq_ 

 1 ! b]lv @ nfv %) xhf/ d'Nof°g ePsf]] -3/_               50.00  
2  @ nfv %) xhf/ ! b]lv !) nfv  d'Nof°g ePsf]] -3/_             100.00  
3 !) nfv ! b]lv @* nfv d'Nof°g ePsf]] -3/_             200.00  
4  @* nfv ! b]lv ! s/f]8 d'Nof°g ePsf]] -3/_             300.00  
5 ! s/f]8 ! b]lv dfly d'Nof°g ePsf]] -3/_              500.00  

 
btf{ tyf ;~rfng Ohfht b:t'/ 

 1 7]nfuf8f, l/S;f, 6fËf btf{ u/L gDa/ lbP jfkt Psk6s               50.00  

 
3/ gS;fkf; z'Ns -zx/L If]q_ 

 1 cf/ l;=;L=, k|]md :6«Sr/ k|lt ju{k'm6                 7.00  
2 l;d]06 hf]8fO{df O{6f, 9'Ëfsf] uf/f] k|lt ju{k'm6                  5.50  
3 df6f]sf] hf]8fO{df sRrL 3/ k|lt ju{ km'6                4.00  
4 l;g]df xn k|lt ju{k'm6               10.00  
5 sf]N8 :6f]/ k|lt ju{k'm6               10.00  
6 cf}wf]lus k|of]hgsf ejgx?               10.00  



 

 

7 kvf{n lgdf{0f @)) /lgË ld6/ ;Dd           1,000.00  
8 kvf{n @)) /lgË ld6/ eGbf a9L ePdf Psd'i6            1,200.00  

9 slknj:t' gu/kflnsf If]q leq ljgf Ohfht ejg lgdf{0f sfo{ ul/ gS;f kf;sf nflu Ohfht lng cfPdf tf]lsPsf] b:t'/df %) 
k|ltzt yk b:t'/ tyf Ohfhtsf] k|ls|ofdf /x]sf jf clGtd :jLs[tL geO{ lgdf{0f u/]sf] xsdf @% k|ltzt yk b:t'/  lng] 

10 gu/kflnsf If]q leq g=kf u7g x'g'' k"j{ 3/ gS;f k|dfl0ft dfu x'g cfPdf tf]lsPsf] b:t'/df %) k|ltzt yk b:t'/ lng] 

11 
gof+ yk ePsf j8f g+= %,^,&,*,(,!),!! / !@ sf a;f]af; k|of]hgsf nflu lgdf{0f ePsf 3/x?sf] xsdf u|fld0f If]qsf] nflu tf]lsPsf] 
b:t'/ cf=j= @)&$.)&% sf] nflu %) k|ltzt / cfufdL ! cf=j ;Dd @%  k|ltzt 5'6 lbO{ gS;f kf; ug]{ / g=kf 3f]if0ff x'g' eGbf cl3 

lgdf{0f ePsf ;+/rgfx?sf] :jLs[tsf] xsdf cfufdL ! cfly{s aif{sf nflu tf]lsPsf] b:t'/df %) k|ltzt 5'6 lbg] .  

  3/ gS;fkf; z'Ns -u|fld0f If]q_   

1 cf/ l;=;L=, k|]md :6«Sr/ k|lt ju{k'm6 
                 5.50  

2 l;d]06 hf]8fO{df O{6f, 9'Ëfsf] uf/f] k|lt ju{k'm6                 4.50  
3 df6f]sf] hf]8fO{df sRrL 3/ k|lt ju{ km'6                  3.50  
4 l;g]df xn k|lt ju{k'm6                 9.00  

5 sf]N8 :6f]/ k|lt ju{k'm6 
                9.00  

6 cf}wf]lus k|of]hgsf ejgx? 
                9.00  

7 kvf{n lgdf{0f @)) /lgË ld6/ ;Dd 
            900.00  

8 kvf{n @)) /lgË ld6/ eGbf a9L ePdf Psd'i6            1,100.00  

  
 

 
hUuf ljsf;-Knl6Ë_ ug]{x?n] Kn6 gS;f :jLs[t u/fp+bf nfUg] ;]jf 

z'Ns 

 1 hUufsf] If]qkmn % s¶f ;Dd           3,000.00  
2 hUufsf] If]qkmn % s¶f b]lv !) s¶f ;Dd           6,000.00  
3 hUufsf] If]qkmn !) s¶f b]lv @) s¶f ;Dd          12,000.00  
4 hUufsf] If]qkmn @) s¶f eGbf dfly hlt;'s}sf] nflu          20,000.00  

 
l;kmfl/; ubf{ 

1 gful/stf l;kmfl/;               10.00  
2 gftf k|dfl0ft             200.00  
3 ;fnsf] sf7 l;kmfl/; xnf] h'jf k|of]hg             200.00  
4 lghL hUufdf /x]sf] sf7sf] l;kmfl/; -k|lt ?v_               125.00  
5 as; kq l;kmfl/; xfn}sf]             800.00  
6 as; kq l;kmfl/; z]ifkl5sf]             600.00  
7 gfd y/ z+zf]wg l;kmfl/;              150.00  
8 hUufwlg btf{ k|df0f k'hf{df kmf]6f] 6fF; ug]{ l;kmfl/;              150.00  
9 hUufwlg btf{ k|df0f k'hf{sf] gSsn -k|ltlnlk_ sf] nflu l;kmfl/;              150.00  

10 AolQmut 36Gff btf{ P]g, @)## nfu' x'g'eGbf cuf8Lsf] AolQmut 36gf 
;DaGwL l;kmfl/;              150.00  

mailto:@)&$.)&%


 

 

11 j}b]zLs k|of]hgsf nflu l;kmfl/; cu|]hL ;d]t              500.00  
12 ;d'bfo ;dfj]zL l;kmfl/;              150.00  
13 laifout sfof{nodf ug]{ l;kmfl/;              150.00  
14 3/ af6f] v'nfpg] l;kmfl/;   
s % s¶f eGbf dfyL             400.00  
v % s¶f ;Dd             300.00  
15 3/ af6f] v'nfpg] l;kmfl/; -u|fdL0f If]q_   
s % s¶f eGbf dfyL             300.00  
v % s¶f ;Dd             200.00  
16 gftf k|dfl0ft -lab]zL k|of]hg_             700.00  

17 vfg]kfgL, 6]lnkmf]g, laB't -law't l;kmfl/; JolQmut k|of]hgsf] nflu 
dfq_              250.00  

18 3/ gS;f gfd;f/L           1,000.00  
19 /sd c;'nL lauf]sf] ;os8f               20.00  
20 tLg k':tf afx]s ck'tfnL l;kmfl/;             600.00  
21 rf/lsNnf l;kmfl/; k|lt lsQfsf] -zx/L If]q leq_             200.00  
22 rf/lsNnf l;kmfl/; k|lt lsQfsf] -zx/L If]q aflx/_              150.00  
23 ;DkQL d'Nof°g ;lxt l;kmfl/; -k|lt xhf/_                  2.50  
24 lgj]bg l6s6 jfkt               10.00  
25 df]xL nut s§f @ b'O{ lauxf ;Dd             400.00  
26 df]xL nut s§f @ b'O{ lauxf eGbf a9L             700.00  
27 3/hUuf d'Nof°g rngrNtLsf] d'Nof°gug]{ l;kmfl/; k|lt xhf/                 1.00  

28 lkr ;8s sf6\bf w/f}6L /fVg' kg]{ d]g /f]8df 

          2,000.00  

29 u]|en ;8s sf6\bf w/f}6L /fVg' kg]{ leqL ;8s 

           1,200.00  

30 hUuf 5'6\ofpg] cldg z'Ns 
            600.00  

31 ;h{ldg z'Ns              150.00  
32 ;h{ldg z'Ns              150.00  
33 gS;fkf; ;h{ldg z'Ns             300.00  
34 gof+ l8n/ l;kmfl/; ubf{            1,500.00  
35 ;fnsf] sf7 l;kmfl/; 3/ lgdf{0f k|of]hg k|lt 3g lkm6                  3.50  
36 7'nf] pBf]u l;kmfl/; ubf{           2,000.00  
37 demf}nf pBf]u l;kmfl/; ubf{            1,300.00  
38 ;fgf]] pBf]u l;kmfl/; ubf{             900.00  
39 ejg lgdf{0f ;DkGg            1,000.00  

40 Joj;fo btf{ nut s§f % nfv ;Ddsf] - % nfv eGbf dflysf] 
tf]sLPsf] b:t'/df bf]Aa/ nfUg]_             300.00  

41 k]zf Joj;fo btf{ z'Ns  % nfv ;Ddsf]  - % nfv eGbf dflysf] 
tf]sLPsf] b:t'/df bf]Aa/ nfUg]_             200.00  

42 PsLs[t ;DklQ s/ btf{ z'Ns Ps k6s dfq               50.00  
43 cfo k|dfl0ft k|lt xhf/                 1.00  
44 :yfoL ÷ c:yfoL a;f]jf; l;kmfl/;              150.00  



 

 

45 cljjflxt l;kmfl/;              150.00  
45 gfjflns l;kmfl/;              150.00  
46 law't l;kmfl/;  ly| km];             600.00  
47 law't l;kmfl/; Joj;flos÷ cf}Bf]lus k|of]hgsf   
s !) xif{ kfj/ ;DDsf]           1,000.00  
v !% xif{ kfj/ ;Dd            1,500.00  
u  @) xif{ kfj/ ;Dd           2,000.00  
48 ;fwf/0f l;kmfl/; b:t'/              150.00  
  Joj;fo÷ k;n gfd;f/L   
1 7'nf]            1,200.00  
2 

demf}nf              800.00  
3 ;fgf]              600.00  
4 j8f g+= ! b]lv !@ ;Dd 3/ gS;f kf; ubf{ w/f}6L jfkt           2,000.00  

5 j8f g+= ! b]lv !@ ;Dd 3/ jgfpbf lgdf{0f ;fdfu|L ;8s 5]pdf /fVg] 
nfO{ dfl;s              250.00  

6 ;jf/L ;fwg gfd;f/L b:t'/             100.00  
  kmf/d laqmL tk{m   

1 3/ gS;f kf; k'l:tsf              500.00  

2 laB't, vfg]kfgL, 6]lnkmf]g l;kmfl/;, 3/jf6f] k|dfl0ft,gful/utf 
l;kml/;,gftf k|dfl0ft kmf/fd               20.00  

3 k]zf Aoj;fo, JolQmut 36gf btf{ kmf/fd / PsLs[t ;DkQL s/ 
kmf/fd  lgMz'Ns  

4 gSsn k|dfl0ft b:t'/ k|lt kfgf                 5.00  
  hUuf gfd;f/L tk{m   
1 j8f g+= ! / # -dlxtf, b]jfgul9of 5f]8L_   
s  Ps lauxf ;Dd              500.00  
v  Ps lauxf b]lv % lauxf ;Dd             800.00  
u kf+r lauxf b]lv dfyL            1,200.00  

2 j8f g+= $ b]lv !@ ;Dd / j8f g+= # sf] dlxtf / b]jfgul9of ;d]t 
  

s s_ Ps lauxf ;Dd             400.00  
v v_ Ps lauxf b]lv % lauxf ;Dd             600.00  
u u_ kf+r lauxf b]lv dfyL             700.00  
3 ufp+ Ans hUuf l;kmfl/; ubf{   

s s_ j8f g+= ! / # -dlxtf / b]jfgul9of 5f]8]/_  ufpF Ans tk{m 
  

v !% -kGb|_ xft ;Ddsf]           1,400.00  
u !% -kGb|_ xft b]lv @% -kRrL;_ xft ;Ddsf]            1,700.00  

# kRrL; xft eGbf dfyL 

           2,300.00  

  v_ j8f g+= $ b]lv !@ ;Dd j8f g+= # sf] -dlxtf / b]jfgul9of 
;d]t_   

s !% xft ;Ddsf]             800.00  
v !% xft b]lv @% -kRrL;_ xft ;Ddsf]             900.00  



 

 

u kRrL; xft eGbf dfyL 

           1,200.00  
  bflvn vf/]h b:t'/ M   

s s_ b'O{ w'/ ;Dd 
             500.00  

v v_ b'O{ w'/ eGbf dfyL           1,000.00  
 


